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1.4 Parent Graphs and Transformations

For each function, identify the parent graph (y = Jx ,y=x*,ory= |x| ), then identify the

transformation needed to get from the parent graph to the final graph.

1. y:—|x|

Parent:

Transformation:

Parent:

Transformation:

2. y=\/;+3

Parent:

Transformation:

5. y:|x+1|

Parent:

Transformation:

3. y=(x—4)’

Parent:

Transformation:

6. y=5\/;

Parent:

Transformation:

Given the parent equation, fill in the parent table. No calculators. Then draw the parent

graph using the key points.

7.y =lx|
X work y ordered pair
2 | |—2(= | 2 (-2.2)
-1 1
0] =

N (= O

S

[=>)

ES




=

B2 X

=

y=x
X work y ordered pair
) (_2)2 = 4 (_2, 4)
1 1
0 (0)* =
1
2
y=x
X work y ordered pair
2 | 2= | 2 | (22
1 -1
0 0=
1
2
10. y=+/x
x work y ordered pair
1 =1 = error none
0 0 (0.0)
1 1=
4
9

=

A




